EARAROBREBRT —5 XN—ZXBISH—F 202355868 (1) 20E413H

W8 C2—-5 C2 HS%Z—E | ) | iEwE - | 9 w0 FE
[xE%] 1 & :700,000 23&:245,000 @ ~ 33%&:140,000 @ . 43%&:105,000H . 53 :70,000 3
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o — e al : ~7-5- - TiE=sE (F0)
11gl0| F—n—uswr # o5 N R Py (e
RIFVIARXRNAN B TS5V e
9_=2 €Y 9 | HEER 1:32.3 5-4-4-3 | 40.8| — 1 472 | BPSF (&H0)
2l8lo| RE=F1T—IL 5.0 hes o |EEES
RiYURI4 ISR #:0-RT7S5A4T7)b Shall Farm
» s = =P 4 | FEEKX 1:32.4 6-6-6-2 | 40.7 | — 5 485 | MEIEX (FH)
3178 EXZ)b—RZ3V 56.0 (3/4) 1) XIJ_IZKWE
R:ISVFURR BEXSIILY [SEige]
— © - BEEX 3 -3-3- - 25— (FH0)
4l5|5 =y Ry h==— 4 4 B 1.(373).8 3-3-3-1 | 42.5 7 (4;155) ’?M%—
R:O394F B:7YN—-==— HEIT7—L
B . _ BIEX (&4
5 3| ARAILFE—L % 5 ?Z’.”Sx 1(73?:? 9-8-9-9 | 41.8 6 (439) *Eﬁ%f (&5
RiF/IVITYR BAAYIDTE—D e
4 7 | FEEAER 1:33.9 2-2-2-5 | 4&.7| - 2 531 | PEEH (B
6 2| 7AIA 55,0 1/2) ) kEﬂEi‘a B
RiIA T RD—LEY BiAFUY 75> RYus
—~ <\ 4t 5 | ERRRE 1:34.4 8-9-8-7 | 42.3| - 8 49 | BiEXE (FH)
7 4 PIYZURUVN 54.0 2172 -2) :t;ﬂ%?
Rib—trya—sv BF:r3v=ZvUvFIL RIS
=== — 4 8 | FR=ER 1:34.5 1-1-1-4 | 43.5| — 4 | 49 |HMEIEX (FFH)
8/111|7AT41—R 56.0 /2 © |AVHEAER
RIIZART—=ILYF— BiR—UHYFIhA SRR
~ = » 6 | BT 1:35.7 4-5-7-8 | 44.1| — 10 | 513 |#EKRE (BH)
97| 7|9A¥7TT4—M N ® Gy | @ Jr-akevay
RiFVyvB/ ¥+ B:7IT74E21—FTo ERRIS
\ 6 | At 1:38.6 10-10-10-10| 43.3 | — 9 473 | REX (GH)
10 6 INILRRAA i 54.0 (94H) *3) T(Iﬁl) J?N}ﬁﬁﬁ
R:ZAEIWN=T B:hAZed—+ SPERUS
@ 11— —BERIEI
10—7+— 1,2,5,7,9,8,10,4,3,6
20— — 1,2,5,9,7,8,10,3,4,6
30—7+— 1,2,5,9,10,8,7,4,3,6
41—+ — 5,8,9,1,2,10,4,7,3,6
o ILRE
BB 10 430 JA R 9-10 230 & 8-8 400 3ER 8-9-10 1,670
B B 10 170H 8-10 390M4 5 & 9-10 440 3Es 10-9-8 7,870
9 120/ 8-9 530 oS- 1 10-9 1,340
8 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.



